Acceleration Notes – Examples and Practice

Name: __________
Mini Lab:  Acceleration Inquiry

What is acceleration?

Turn to your neighbour and see if you can come up with a definition:

What would you need to know in order to measure acceleration?

List them here:

Activity: Let’s measure the acceleration of two objects falling off of the second floor into the cafe. 

Data:

	Object
	Trial 1 (time)
	Trial 2 (time)
	Average

	1
	
	
	

	2
	
	
	


Calculations:

Calculate the acceleration due to gravity of object 1 and object 2.

Using the following information - d= 5.2m and a formula learned in grade 11 vf2 = vo2 +2ad. We were able to figure out that the change in velocity was 10.2 m/s
Calculate the acceleration due to gravity of object 1 and object 2.

	Acceleration of object 1
	Acceleration of object 2

	
	


Conclusion:

What did you notice about the acceleration of the two objects?

There are 3 types of acceleration:

Zero Acceleration – ____________ velocity. Part of uniform motion which also includes that the object travels in _________ direction. 

Positive Acceleration – from zero with ____________ velocity
[image: image1.emf]
Negative Acceleration – ________ to a ________ (written with a _______ sign)
On the graph to the right – label where there is positive, negative and zero acceleration. Also where is there uniform motion?
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[image: image3.emf]From the Bugatti video:

The car goes from 200 to 300 km/hr took only 9.4 seconds

What is the Bugatti’s acceleration?

Example: A golf ball rolled across the green with an acceleration of -1.4m/s2. If the initial velocity was +2.8m/s, for how many seconds did the golf ball roll before stopping?

Practice: A skier travelling at a velocity of 18 m/s stops with an acceleration of

 -4.9m/s2. Over what time interval did the skier stop?

Determining Final Velocity

Example: A baseball is thrown upward with an initial velocity of 15 m/s. What will the baseball’s velocity be after 2.0s? The acceleration of gravity is 9.8m/s2 down?

Practice: A slingshot shoots a marble upward with an initial velocity of 20m/s. What is the speed of the marble after 1.4s? The acceleration of gravity is 9.8m/s2 down.

Determining Initial Velocity

Example: After slowing down at 4.5 m/s2 for 1.4s, a car’s velocity was 15 m/s [W]. What was the initial velocity of the car?

Practice: A rocket was travelling upward when the second stage fired. The second stage gave the rocket an average acceleration of + 19m/s2 for 4.5 s. If the final velocity of the rocket was + 125 m/s, what was the rocket’s velocity before the second stage fired?


